



Asymptotic and Boundedness Behaviour of a Second Order Difference Equation

D.S.Dilip^{1*}, Smitha Mary Mathew² and E.M.Elsayed³

^{1,2}Department of Mathematics,

St.John's College, Anchal,

Kollam District, Kerala, India.

²Department of Mathematics, Mar Ivanios College

Thiruvananthapuram District, Kerala, India.

³King Abdulaziz University, Faculty of Science

Mathematics Department, P.O. Box 80203

Jeddah 21589, Saudi Arabia.

³Department of Mathematics, Faculty of Science

Mansoura University, Mansoura 35516, Egypt.

Abstract

In this paper, we study the asymptotic behaviour and boundedness of the solutions of the difference equation

$$x_{n+1} = \alpha + \beta x_{n-1} \lambda^{-x_n}, \quad n = 0, 1, 2, \dots \quad (1)$$

where $\lambda > 1$ and $\alpha > 0, \beta > 0$ are the immigration rate and population growth respectively and initial conditions x_{-1}, x_0 are arbitrary positive numbers.

Key words: Equilibrium point, Local asymptotic stability, Global asymptotic stability, Positive solutions, Boundedness.

AMS Subject Classification 2000: 39A22.

Introduction

Difference equation containing exponential terms have many applications in biology, there are many papers dealing with such equations. Evolution of a perennial grass depends on the biomass, the litter mass and the total soil nitrogen was described by the difference equations

$$B_{t+1} = cN \frac{e^{a-bL_t}}{1 + e^{a-bL_t}}, \quad L_{t+1} = \frac{L_t^2}{L_t + d} + ckN \frac{e^{a-bL_t}}{1 + e^{a-bL_t}} \quad (2)$$

where B is the living biomass, L the litter mass, N the total soil nitrogen, t the time and constants $a, b, c, d > 0$ and $0 < k < 1$. Oscillatory and chaotic nature of (2) was discussed in [14].

Global stability, boundedness nature and periodic character of the positive solution of the difference equation

$$x_{n+1} = \alpha + \beta x_{n-1} e^{-x_n}, \quad n = 0, 1, 2, \dots \quad (3)$$

was investigated by El-Metwally et al [9], where $\alpha > 0$ and $\beta > 0$ are the immigration rate and population growth respectively and the initial conditions x_{-1} and x_0 are arbitrary nonnegative numbers.

Existence, uniqueness and attractivity of prime period two solution for (3) was discussed by Fotiades et al [10].

Boundedness and global asymptotic behavior of the solution of the difference equations

$$x_{n+1} = \frac{\alpha + \beta e^{-x_n}}{\gamma + x_{n-1}}, \quad n = 0, 1, 2, \dots$$

and

$$x_{n+1} = \frac{\alpha e^{-(nx_n + (n-k)x_{n-k})}}{\beta + x_n + (n-k)x_{n-k}}, \quad n = 0, 1, 2, \dots$$

were studied by Ozturk et al [11, 12], where α and β are positive numbers $k \in \{1, 2, 3, \dots\}$ and the $x_{-k}, x_{-(k-1)}, \dots, x_{-1}, x_0$ are arbitrary numbers.

Boundedness and the persistence of the positive solutions, the existence, the attractivity and the global asymptotic stability of the unique positive equilibrium and the existence of periodic solutions concerning the biological model

$$x_{n+1} = \frac{ax_n^2}{x_n + b} + c \frac{e^{k-dx_n}}{1 + e^{k-dx_n}}$$

was established in [13], where $0 < a < 1, b, c, d, k$ are positive constants and x_0 is a real number.

Stability analysis of a nonlinear difference equation

$$y_{n+1} = \frac{\alpha e^{-y_n} + \beta e^{-y_{n-1}}}{\gamma + \alpha y_n + \beta y_{n-1}}, \quad n = 0, 1, 2, \dots$$

was established in [2], where α, β and initial conditions are arbitrary positive numbers.

Motivated by above studies, we generalize (3) and investigate the global attractivity and boundedness of the solutions of the difference equations (1) for $\lambda > 1$.

Preliminaries

Definition 2.1. [7] Let $I \in \mathbb{R}$ and let $f : I \times I \rightarrow I$ be a continuous function. Consider the difference equation

$$x_{n+1} = f(x_n, x_{n-1}) \quad n = 0, 1, 2, \dots \quad (4)$$

for the initial conditions $x_0, x_{-1} \in I$. We say that \bar{x} is an equilibrium of equation (4) if $\bar{x} = f(\bar{x}, \bar{x})$.

That is, the constant sequence $\{x_n\}_{n=-1}^{\infty}$ with $x_n = \bar{x}$ for all $n \geq -1$ is a solution of equation (4).

Definition 2.2. [7]

- (i) The equilibrium \bar{x} of equation (4) is called locally stable if for every $\epsilon > 0$, there exists $\delta > 0$ such that $x_{-1}, x_0 \in I$ with $|x_0 - \bar{x}| + |x_{-1} - \bar{x}| < \delta$, then $|x_n - \bar{x}| < \epsilon$ for all $n \geq -1$.
- (ii) The equilibrium \bar{x} of equation (4) is called locally asymptotically stable if it is locally stable and if there exists $\gamma > 0$ such that $x_{-1}, x_0 \in I$ with $|x_0 - \bar{x}| + |x_{-1} - \bar{x}| < \gamma$, then $\lim_{n \rightarrow \infty} x_n = \bar{x}$.
- (iii) The equilibrium \bar{x} of equation (4) is called a global attractor if for every $x_{-1}, x_0 \in I$ we have $\lim_{n \rightarrow \infty} x_n = \bar{x}$.
- (iv) The equilibrium \bar{x} of equation (4) is called globally asymptotically stable if it is locally stable and a global attractor.
- (v) The equilibrium \bar{x} of equation (4) is called unstable if it is not stable.

Definition 2.3. [7] Let $f(u, v)$ be continuously differentiable function. Let $p = \frac{\partial f}{\partial u}(\bar{x}, \bar{x})$ and $q = \frac{\partial f}{\partial v}(\bar{x}, \bar{x})$ denote the partial derivatives of $f(u, v)$ evaluated at an equilibrium \bar{x} of equation (4). Then the equation

$$y_{n+1} = py_n + qy_{n-1}, \quad n = 0, 1, 2, \dots \quad (5)$$

is called the linearized equation associated with the equation (4) about the equilibrium point \bar{x} .

The characteristic equation of equation (5) is the equation

$$\mu^2 - p\mu - q = 0 \quad (6)$$

with characteristic roots $\mu_{\pm} = \frac{p \pm \sqrt{p^2 + 4q}}{2}$.

Theorem 2.4. [7][Linearized Stability]

- (a) If both roots of the quadratic equation (6) lie in the open unit disk $|\mu| < 1$, then the equilibrium \bar{x} of (4) is locally asymptotically stable.
- (b) If atleast one of the roots of (6) has absolute value greater than one, then the equilibrium \bar{x} of (4) is unstable.
- (c) A necessary and sufficient condition for both roots of (6) to lie in the open unit disk $|\mu| < 1$, is $|p| < 1 - q < 2$. In this case the locally asymptotically stable equilibrium \bar{x} is also called a sink.
- (d) A necessary and sufficient condition for one root of (6) to have absolute value greater than one and for the other to have absolute value less than one is $p^2 + 4q > 0$ and $|p| > |1 - q|$. In this case unstable equilibrium point \bar{y} is called a saddle point.
- (e) A necessary and sufficient condition for a root of (6) to have absolute value equal to one is $|p| = |1 - q|$ or $q = -1$ and $|p| \leq 2$. In this case the equilibrium \bar{y} is called a nonhyperbolic point.
- (iv) A necessary and sufficient condition for both roots of (6) to have absolute value greater than one is $|q| > 1$ and $|p| < |1 - q|$. In this case \bar{y} is called a repeller.

Theorem 2.5. [5] Assume $\alpha \in (0, \infty), \beta \in \mathbb{R}$. Let x_n and y_n be sequence of real numbers such that x_{-1}, x_0 and $x_{-1} \leq y_{-1}, x_0 \leq y_0$ and $x_{n+1} \leq \alpha x_{n-1} + \beta$ and $y_{n+1} = \alpha y_{n-1} + \beta$. Then $x_n \leq y_n$ for $n \geq -1$.

Theorem 2.6. [6] Suppose that f satisfies the following conditions.

(i). There exists positive numbers a and b with $a < b$ such that $a \leq f(x, y) \leq b$ for all $x, y \in [a, b]$.

(ii). $f(x, y)$ is decreasing in $x \in [a, b]$ for each $y \in [a, b]$ and increasing in $y \in [a, b]$ for each $x \in [a, b]$.

(iii). Equation (4) has no solution of prime period two in $[a, b]$.

Then there exists exactly one equilibrium solution \bar{x} of (4) which lies in $[a, b]$.

Moreover every solution of 4 with initial conditions $x_{-1}, x_0 \in [a, b]$ converges to \bar{x} .

Theorem 2.7. [9] Assume that $f : (0, \infty) \times (0, \infty) \rightarrow (0, \infty)$ satisfies the following conditions. $f(x, y)$ is decreasing in x for each $y \in (0, \infty)$ and $f(x, y)$ is increasing in y for each $x \in (0, \infty)$. There exists positive real numbers $0 < m < M$ and $\delta > 0$ such that all $i \geq 0$, $f(M, m) \leq m$ and $f(m, M + i\delta) \geq M + (i + 1)\delta$. Let (x_n) be a positive solution of (1) such that $x_{-1} \leq m$ and $x_0 \geq m$, then $x_{2n-1} \leq m$ for all $n \geq 1$ and $\lim_{n \rightarrow \infty} x_{2n} = \infty$.

Main Results

In this section, we discuss the local, global asymptotic stability and boundedness of the solutions of equation (1).

The equilibrium points of equation (1) are the solutions of the equation

$$\bar{x} = \alpha + \beta \bar{x} \lambda^{-\bar{x}} \quad (7)$$

Set,

$$g(x) = \alpha + \beta x \lambda^{-x} - x, \quad (8)$$

we get $g(0) = \alpha > 0$, $g'(x) = \beta \lambda^{-x}(1 - x \ln \lambda) - 1$ and when $\lambda > 1$, $\lim_{x \rightarrow \infty} g(x) = -\infty$.

This gives us that equation (1) has a unique equilibrium \bar{x} .

Theorem 3.1. Equilibrium point \bar{x} of (1) is locally asymptotically stable if

$$\beta < \frac{-\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}}{\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}} \lambda^{\frac{\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}}{2 \ln \lambda}}. \quad (9)$$

and unstable if

$$\beta > \frac{-\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}}{\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}} \lambda^{\frac{\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}}{2 \ln \lambda}}. \quad (10)$$

Proof. From Theorem 2.4, we have $\beta\lambda^{-\bar{x}} < \frac{1}{1 + \bar{x} \ln \lambda}$.

Substituting in (7) we get, $\bar{x} < \frac{\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}}{2 \ln \lambda}$.

Again from (7), we get $\beta < \frac{-\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}}{\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}} \lambda^{\frac{\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}}{2 \ln \lambda}}$

Also from Theorem 2.4, we have $\beta\lambda^{-\bar{x}} > \frac{1}{1 + \bar{x} \ln \lambda}$.

Substituting in (7) we get, $\bar{x} > \frac{\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}}{2 \ln \lambda}$.

And from (7), we get $\beta > \frac{-\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}}{\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}} \lambda^{\frac{\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}}{2 \ln \lambda}}$. □

Theorem 3.2. Assume $\lambda > 1$. Every positive solution of (1) is bounded if $\beta < \lambda^\alpha$ and unbounded if $\beta > \lambda^\alpha$.

Proof. Suppose $\beta < \lambda^\alpha$.

Let $\{x_n\}_{n=-1}^\infty$ be a positive solution of (1).

Then $x_{n+1} \leq \alpha + \beta x_{n-1} \lambda^{-\alpha}$.

Consider the Initial Value Problem $y_{n+1} = \alpha + \beta y_{n-1} \lambda^{-\alpha}$ with conditions $y_0 = x_0$ and $y_1 = x_1$.

Then by Theorem (2.5), $x_n \leq y_n$ for every $n \geq 0$.

$$\lim_{n \rightarrow \infty} y_{n-1} = \frac{\alpha}{1 - \beta \lambda^{-\alpha}} \text{ so } \limsup_{n \rightarrow \infty} x_n \leq \frac{\alpha}{1 - \beta \lambda^{-\alpha}}$$

$\Rightarrow \{x_n\}$ is bounded.

Suppose $\beta > \lambda^\alpha$.

Let $m = \log_\lambda \beta$, $M = \log_\lambda \frac{\beta m}{m - \alpha}$, $\delta = \alpha$.

Let $\{x_n\}_{n=-1}^\infty$ be a positive solution of (1) such that $x_{-1} \leq m$ and $x_0 \geq M$.

Then from Theorem 2.7, we get $\lim_{n \rightarrow \infty} x_{2n} = \infty$ and $\lim_{n \rightarrow \infty} x_{2n+1} = \alpha$. □

Theorem 3.3. Assume $\lambda > 1$. Suppose $\beta < \lambda^\alpha$. The set $[\alpha, \frac{\alpha}{1 - \beta \lambda^{-\alpha}}]$ is invariant for $x_{n+1} = \alpha + \beta x_{n-1} \lambda^{-\alpha}$

Proof. Let $\{x_n\}_{n=-1}^\infty$ be a positive solution of (1) with $x_0, x_1 \in [\alpha, \frac{\alpha}{1 - \beta \lambda^{-\alpha}}]$.

Then $\alpha \leq x_1 \leq \alpha + \beta \frac{\alpha}{1 - \beta \lambda^{-\alpha}} \lambda^{-\alpha}$.

The result follows by induction. □

Lemma 3.4. We assume $1 < \lambda < e$. Suppose that $\beta < \lambda^\alpha \left(\frac{-\alpha + \sqrt{\alpha^2 + 4(\ln \lambda)^2}}{2 \ln \lambda} \right)$ and let $\{x_n\}_{n=-1}^\infty$ be a positive solution of (1). Then $\limsup_{n \rightarrow \infty} x_n \leq \frac{\alpha}{1 - \beta \lambda^{-\alpha}}$.

Proof. The proof follows from $\frac{-\alpha + \sqrt{\alpha^2 + 4(\ln \lambda)^2}}{2 \ln \lambda} < 1$ and Theorem 3.2. □

Lemma 3.5. We assume $1 < \lambda < e$. Suppose that $\beta \leq \min \left(\lambda^\alpha \left(\frac{-\alpha + \sqrt{\alpha^2 + 4(\ln \lambda)^2}}{2 \ln \lambda} \right), \frac{1 - \sqrt{1 - (\ln \lambda)^4}}{\lambda^{-\alpha} (\ln \lambda)^2} \right)$. Then (1) has no positive solution of prime period two.

Proof. Let $x, y \in (\alpha, \infty)$.

Then from (1), we write $x = \alpha + \beta x \lambda^{-y}$, $y = \alpha + \beta y \lambda^{-x}$.

Then $y = \log_\lambda \frac{\beta x}{x - \alpha}$ and $x = \log_\lambda \frac{\beta y}{y - \alpha}$ then

$$\log_\lambda \frac{\beta x}{x - \alpha} (1 - \beta \lambda^{-x}) = \alpha = \log_\lambda \frac{\beta y}{y - \alpha} (1 - \beta \lambda^{-y}).$$

Set $F(z) = \log_\lambda \frac{\beta z}{z - \alpha} (1 - \beta \lambda^{-z}) - \alpha$.

Since \bar{x} is a solution of (1), $F(\bar{x}) = 0$ and $\bar{x} > \alpha$.

We show that \bar{x} is the only solution of (1).

To show that $F(z)$ has exactly one z-intercept greater than α .

Let $z > \alpha$ be such that $F(z) = 0$.

The proof will follow by showing that $F'(z) < 0$

$$F'(z) = \frac{-\alpha \ln \lambda (1 - \beta \lambda^{-z})}{z(z - \alpha)} + \log_\lambda \left(\frac{\beta z}{z - \alpha} \right) \beta \lambda^{-z} \ln \lambda.$$

Clearly $\log_\lambda \frac{\beta z}{z - \alpha} (1 - \beta \lambda^{-z}) - \alpha = F(z) = 0$

$$\log_\lambda \frac{\beta z}{z - \alpha} = \frac{\alpha}{1 - \beta \lambda^{-z}}$$

$$\Rightarrow F'(z) = \alpha \ln \lambda \left(\frac{-[1 - \beta \lambda^{-z}]}{(z - \alpha)z} + \frac{\beta \lambda^{-z}}{1 - \beta \lambda^{-z}} \right).$$

Claim : $\beta d^2 - \beta \alpha d < \lambda^d + \beta^2 \lambda^{-d} - 2\beta$ for all $d \geq \alpha$.

For $d \geq \alpha$, set $G(d) = \lambda^d + \beta^2 \lambda^{-d} - 2\beta$ and $H(d) = \beta d^2 - \beta \alpha d$.

Then, $H(\alpha) = 0$ and $G(\alpha) = \lambda^{-\alpha} (\lambda^\alpha - \beta)^2 > 0$.

Hence it suffices to show that $G'(d) > H'(d)$ for all $d \geq \alpha$.

Here $G'(d) = \lambda^d \ln \lambda - \beta^2 \lambda^{-d} \ln \lambda$ and $H'(d) = 2\beta d - \beta\alpha$.

Since $\beta \leq \lambda^\alpha \left(\frac{-\alpha + \sqrt{\alpha^2 + 4 \ln \lambda^2}}{2 \ln \lambda} \right)$, we get $G'(\alpha) \geq H'(\alpha)$

and hence it is enough to show that $G''(d) > H''(d)$ for all $d \geq \alpha$.

Now, $G''(d) = (\ln \lambda)^2 \lambda^d + \beta^2 \lambda^{-d} (\ln \lambda)^2$ and $H''(d) = 2\beta$.

Since $\beta \leq \lambda^\alpha \left(\frac{-\alpha + \sqrt{\alpha^2 + 4 \ln \lambda^2}}{2 \ln \lambda} \right)$, we get $G''(\alpha) \geq H''(\alpha)$

and hence it is enough to show that $G'''(d) > H'''(d)$ for all $d \geq \alpha$.

Here $G'''(d) = (\ln \lambda)^3 \lambda^d - \beta^2 \lambda^{-d} (\ln \lambda)^3 = \lambda^{-d} (\ln \lambda)^3 (\lambda^{2d} - \beta^2) > 0$ and $H'''(d) = 0$.

Hence it is clear that $G'''(d) > H'''(d)$ for all $d \geq \alpha$ and so the claim is true.

In particular since $z > \alpha$, $\beta z^2 - \beta\alpha z < \lambda^z + \beta^2 \lambda^{-z} - 2\beta$

ie, $\beta z(z - \alpha) < (1 - \beta \lambda^{-z})(\lambda^z - \beta)$

$$\frac{(1 - \beta \lambda^{-z})}{z(z - \alpha)} > \frac{\beta}{\lambda^z - \beta} = \frac{\beta \lambda^{-z}}{1 - \lambda^z \beta}$$

$$\Rightarrow F'(z) < 0. \quad \square$$

Theorem 3.6. We assume $1 < \lambda < e$. Suppose that

$$\beta \leq \min \left(\lambda^\alpha \left(\frac{-\alpha + \sqrt{\alpha^2 + 4(\ln \lambda)^2}}{2 \ln \lambda} \right), \frac{1 - \sqrt{1 - (\ln \lambda)^4}}{\lambda^{-\alpha} (\ln \lambda)^2} \right). \text{ The equilibrium } \bar{x} \text{ of (1) is globally asymptotically stable.}$$

Proof. By a simple calculation we can see that

$$\begin{aligned} \min \left(\lambda^\alpha \frac{-\alpha + \sqrt{\alpha^2 + 4(\ln \lambda)^2}}{2 \ln \lambda}, \frac{1 - \sqrt{1 - (\ln \lambda)^4}}{\lambda^{-\alpha} (\ln \lambda)^2} \right) \\ < \frac{-\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}}{\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}} \lambda^{\frac{\alpha \ln \lambda + \sqrt{\alpha^2 \ln^2 \lambda + 4\alpha \ln \lambda}}{2 \ln \lambda}}. \end{aligned}$$

Hence by Theorem 3.1, \bar{x} is locally asymptotically stable.

It remains to show that \bar{x} is a global attractor of (1)

For $x, y \in (0, \infty)$, set $Let f(x, y) = \alpha + \beta y \lambda^{-x}$

Then $f : (0, \infty) \times (0, \infty) \rightarrow (0, \infty)$ is a continuous function, $f(x, y)$ is decreasing in x for each $y \in (0, \infty)$ and $f(x, y)$ is increasing in y for each $x \in (0, \infty)$

We shall show that there exists positive numbers a and b with $a < b$ such that the following statements are true.

(i). $a < f(x, y) < b$ for all $x, y \in [a, b]$.

(ii). Every positive solution (x_n) of (1) eventually lies in (a, b) .

Let $\epsilon > 0$, be given. Set $a = \alpha$ and $b = \frac{\alpha + \epsilon}{1 - \beta \lambda^{-\alpha}}$ Then,

$$f(b, a) = f\left(\frac{\alpha + \epsilon}{1 - \beta \lambda^{-\alpha}}, \alpha\right) = \alpha + \beta \alpha \lambda^{\frac{-\alpha + \epsilon}{1 - \beta \lambda^{-\alpha}}} > \alpha = a$$

and $f(a, b) < b$.

So as $f(x, y)$ is decreasing in x and increasing in y , it follows that $a < f(x, y) < b$ for all $x, y \in [a, b]$.

Clearly every positive solution x_n of (1) is eventually greater than $a = \alpha$ and eventually less than $b = \frac{\alpha + \epsilon}{1 - \beta\lambda - \alpha}$. The proof follows by Lemmas 3.4, 3.5 and Theorem 2.6.

□

References

- [1] L. Berg and S. Stevic, On the Asymptotics of some Difference equation, Journal of Difference Equations and Applications, 18(5) (2012), 785 - 797.
- [2] Fatma Bozkurt, Stability Analysis of a Nonlinear Difference equation, International Journal of Modern Nonlinear Theory and Application, 2 (2013), 1 - 6.
- [3] Elias Camouzis and G. Ladas, Dynamics of Third Order Rational Difference Equations with Open Problems, Chapman & Hall/CRC, 2007.
- [4] R. De Vault, W. Kosmala, G. Ladas and S.W. Schultz, Global Behavior of $y_{n+1} = \frac{p + y_{n-k}}{qy_n + y_{n-k}}$, Nonlinear Analysis, 47(2001), 4743 - 4751.
- [5] V.L.Kocic and G. Ladas, Global Behavior of Nonlinear Difference Equations of Higher Order with Applications, Kluwer Academic Publishers, Dordrecht, 1993.
- [6] M. Kulenovic, G. Ladas and W.S. Sizer, On the Recursive Sequence $x_{n+1} = \frac{\alpha x_n + \beta x_{n-1}}{\gamma x_n + \delta x_{n-1}}$, Math. Sci. Res. Hot-Line, 2(5), 1998, 1-16.
- [7] M. Kulenovic and G. Ladas, Dynamics of Second Order Rational Difference Equations, Chapman & Hall/CRC, 2002.
- [8] Longtu Li, Stability Properties of Nonlinear Difference Equations and Conditions for Boundedness, Computers and Mathematics with Applications, 38 (1999), 29 - 35.
- [9] H. El-Metwally, E.A. Grove, G. Ladas, R. Levins and M. Radin, On the Difference Equation $x_{n+1} = \alpha + \beta x_{n-1} e^{-x_n}$, Nonlinear Analysis, 47(7) (2001), 4623 - 4634.

- [10] N. Fotiades and G. Papaschinopoulos, Existence, Uniqueness and Attractivity of Prime Period Two Solution for a Difference Equation of Exponential form, Applied Mathematics and Computation, 218(2012), 11648 - 11653.
- [11] I. Ozturk, F. Bozkurt and S. Ozen, Global Asymptotic Behavior of the Difference Equation $y_{n+1} = \frac{\alpha e^{-(ny_n+(n-k)y_{n-k})}}{\beta + ny_n + (n-k)y_{n-k}}$, Applied Mathematics Letters, 22(2009), 595 - 599.
- [12] I. Ozturk, F. Bozkurt and S. Ozen, On the Difference Equation $y_{n+1} = \frac{\alpha + \beta e^{y_n}}{\gamma + y_{n-1}}$, Applied Mathematics and Computation, 181 (2006), 1387 - 1393.
- [13] G. Papaschinopoulos, C.J. Schinas and G. Ellina, On the Dynamics of the Solutions of a Biological Model, Journal of Difference Equations and Applications, 20(5 - 6) (2014), 694 - 705.
- [14] D. Tilman and D. Wedin, Oscillations and Chaos in the Dynamics of a Perennial Grass, Letters to Nature, 353 (1991), 653 - 655.